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- SECTION A (25 x 2 marks) }

For each question from 1 to 25, four options are given. One of them is the correct
answer. Make your choice (1, 2, 3 or 4). Shade the correct oval (1, 2, 3 or 4) on the
Optlical Answer Sheet (OAS) provided.

1. June did a study on two animals, X and Y. She drew a checkiist and placed a tick
(¥) in the box when she made the observation.
At the end of her study, the completed checklist is as follows:

Observation . Animal X Amimal Y
' Eggs are laid in water. - v

There are 4 stages in its fife cycle. v V

It has six fegs. N v
Which one of the following identifies X and Y correctly?

[ Animal X Animal Y

(1) butterfly cockroach

(2) mosquito butterfly

3) mosquito cockroach

(4) butterfly beetle
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2.

The pictures below show the nymph and adult grasshopper.

Based on your observation, which of

nymph

the nymph and aduit grasshopper?

A Both have 6 legs.
Both have feelers.
C  Both are without wings.

B

(1)
(2)
(3)

C only
A and B only
B and C only

4 A BandC

grasshopper =

the following statements isfare true about

The diagrams below show the different stages of growth of a plant.

l A ]

Which one of the followin

)

grows? ' :
2 A-CcosBLD
B BoD-AoC
4 C-A-D-.B

d

8]

2 of 40
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[ » ]

g shows the correct order in which the young plant
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Figure 1 shows a leaf with two different coloured areas on a plantused in a
photosynthesis experiment. The white area on the leaf has no chlorophyli.

white area

green area

Next, the leaf was partly covered by black paper, as shown in Figure 2.

black paper

The plant was then put in the sun. After 2 days, the leaf was plucked off and the
black paper was removed. The leaf was tested for starch.

Which of these areas, A, B, C and / or D, was / were starch mostly found?
P (1) Aonly
(2) Bonly

_ (3) A=andB only
', (4) CandD only
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5  The diagram below shows two green plants, X and Y, growing in a garden.

fence
: | -
W T
I !
Y

Which one of the following statements about both plants, X and Y, is NOTV
correct? ~ °

poie

X

{1) Both have weak stems.

(2} Both make their own food.
(3)  Both reproduce by spores.
(4) Both need a suppart to grow.
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6. Mary ate a piece of bread for breakfast. The diagram below shows where the food
was found at different times of the day.

. 7.00 am

)
l)

7.03 am

11.00 am -

8.45 pm

At about what time did the digestion of food begin?

;;'\-:(1) 7.00 am

) 7.03am
(3) 11.00 am

‘4) 845 pm
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7 The diagram below shows part of the skeletal system of the human arm.

Which of these parts are the joints in the arm shown above?

(1) AandB only
(2) AandD only
3y CandD only
4) A, B.CandD
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John observed two plants, Y and 7, using a table as shown below.

A tick (V) shows that the plant had the characteristic.

Characteristic Y z

bears fruit . AR SR S
grows on land

Erom the information above, how could John classify the plants Y and Z using the
classification chart below?

PLANTS -
| Il
, flowering non-flowering
[ B
I i { i
aquatic non-aquatic . ] aquatic non-aquatic
A B C 5
PlantyY Plant Z
(1} A D
2) B C
3 C B
(4) D A
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54

Kim was given 5 leaves and she classified four of them as shown below.

O\

She was left with the last leaf as shown below

=

Based on the classification chart above, which group should Kim place this leaf?

Ieaves

(1 w
(2) X
¢ Y
4 z
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10.

James did a test to find out if the amount of water will affect the growth of the
green bean plant.

He conducted the experiment using 5 pots of similar plants and measured their
heights on the tenth day as shown below.

" > 30

cn'gj 25 7

Ec

E"‘c) 20

,8 ©

0, =

' Qg

£

o T

Q O -

£ - PotC PotD PotE
- B Plants

Which of the following conditions must James take note to ensure a fair test?

A The type of soil

B  The type of water

C  The amount of water

D The sizeof the container

(1) AandB only
(2) BandD only
(3) A,BandD only
(4) A, CandD only
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11
of & mrae
Sel-up 1
R ..r"'___'-_'__
T —-——
reflection
- af "G’ -
—

Set-up 2 below shows the object in front of the mirrar

Set-up 2

o

=T

Set.up 1 below shows Ihe image of the letter 'C when it was placed in front

olypect in from
of mirror

object
front of

- % Which one of the following shows the mirror reflection in Setup 27

Pz
L@ Sq

8
297

10of 40
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12 The diagram below shows three pieces of abjects. Objects A and C are
made of wood, while object B is made of clear glass.

=< 2cm»
4cm 4cm 4cm|
< Zen* 4o - 4om——>
A B, C

The three pieces of objects are glued together. They are then placed
between a torch and a screen as shown below.

screen

torch

3 pieces of
objects

Which one of the following shadows is formed on the screen?

(1) 2

) @
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13,

. The shadow is most likely formed at

The diagram below shows the shadow cast by a ‘STOP” sign.

\_/
R0

.(1) 8 a.m.

2) 12pm.
(3) 3pm.

. (4) 6p.m.
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14.  Nicole heated 4 materiais, A, B, C and D. The graph below shows the rise in
their temperatures during heating after 10 minutes.

Temperature (°C)

)
II

oy » Materials
° oA B9 o

Based on the graph above, which material, A, B, C or D, is the most suitable
material to be made info part R of the frying pan?

() A
(2) B
3 C
4) D
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15.

@

Fiona filled three basins with warm
in the diagram below.

U

warm water

{ap water

water, tap water and ice water as shown

ice water

She put her right hand in warm water and her left hand in ice water.

warm water

tap water

ice wafer

After three minutes, she put both her hands in the basin of tap water.

Which one of the following shows correctly how her hands would feel?

(1
2
(3}

| _tefthand | right hand
warm warm
warm cold
cold cold
cold warm |

14 0f 40
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16.  Ali attached 4 thumbtacks using wax to an iron rod as shown in the diagram
below. He then heated the rod at point X.

. wax { :}—*" iron rod
- %j ﬁ ﬁ) Lthumbtack

R S

X

Which one of the following wilt show the order in which the thumbtacks fel(?-

(1) P,Q, RS

(2) P.R.S.Q
(3) QP.RS
(4) QRPS
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17.

Sarah wanted to find out wh
diagrams beiow show five p

’;ass beaker

pond water
(100 m¢)

metal fin

pond water
(100 mi#}

bunsen burner

ether pond water or ta
ossible set-

=

(Y

set-up D

bunsen burnet

- — —

tap water (50 mg)

p water would boil faster. The

ups, A, B,C,Dand E.

-

__——metal tin

tap water
(50 mi)

set-up B

lass beaker

thermometer

thermometers

bunsen burner

metal tin
/ .

pond water
(50 m)

set-up E
'&-‘—J

+ Which two set-ups should Sarah compare so that she can make a conclusion?

(1) AandB
(2) AandcC
(3) BandE
4) Dandg

160f 40
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18.

Steven has 4 objects A, B, C and D.

When he puts A into a measuring cylinder containing 10 cm? of water, the water
level rises. He puts in B, C and D, one at a time and plots the graph below to
show the changes in the water level in the measuring cylinder.

Height of water ievel (cm})

70

60 e

50

40

30 %

20

10

Which of the 4 objects, A, B, C or D, has the largest volume?

EHD) A
‘(2) B
@) C

(B

L@
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19.  The diagram below shows the

temperature.

I Matter W, X, Y ’

Has definite
volume

yes

Takes the

contain_er

shape of its

properties of various matter at room

Which one of the following represents correctly the matter W, X and Y?

(1)
(2)
(3)
(4)

18 of 40

W X Y
oxygen juice sand
water stone rtitrogen
air wood milk
carbon dioxide reeeabe flour
watel”
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20. Wendy placed a loy car made of steel on an aluminium sheet. She held a
strong magnet under it as shown in Diagram 1 below.

toy car

aluminium

e sheet

. : strong magnet -
Diagram 1

When she moved the magnet, she noticed that the toy car moved in the -
same direction. - -

When Wendy replaced the aluminium sheet with an iron sheet, she noticed
that the toy car did not move when she moved the magnet as shown in
Diagram 2 below.

toy car

iron sheet

strong magnet
Diagram 2 P ET
Which one of the foliowing statements explains correctly her observations

in Diagram 27?

(1) The iron sheet repelied the magnet.

(2) The toy car was attracted to the iron sheet.

(3) The iron sheet was attracted to the magnet.
(4) The toy car was attracted to the strong magnet.
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21, Sandra put a bar magnet into a glass. She placed the glass over some iron
filings. She observed that the iron fllings were attracted to the bottom of the

glass as shown in the diagram below.

—

bar magnet

glass

'\'U‘\—‘\: Py o T

> iron filings

plastic tray

This experiment shows that

(1) theiron filings were attracied to the glass

{2) magnetic force could pass through the glass

(3) the glass was magnetised by the bar magnet

(4) the south pole of the bar magnel was attracted to the glass
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22, The diagram below shows bar magnet A with 3 thumbtacks hanging from
it.

N ——--——— bar magnet A

thumbtacks
/’/

P

A bar magnet B is brought close to the end of thumbtack ‘P’ as shown
below. -

bar i}
magnet B

What will happen to thumbtack ‘P’'?

(1) 1t will not move.

(2) 1t will fall to the ground.

(3) it will repel from bar magnet B.

(4) It will be attracted to bar magnet B.
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23 The diagram below shows four magnets, A, B, C and D, hanging from

strings of different lengths.
A glass tray of steel thumbtacks is placed below the magnets and different

number of thumbtacks are attracted to each magnet.

___ strings _ — strings

e

glass tray thumbtack

Which one of the following shows the correct order of the strength of the
magnets from the weakest to the strongest?

weakest strongest
(1) C A B D
(2) C B A D
(3) D B A C
4) D A 8 C
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24, Diagram 1 shows a strong magnet being used to stroke steel bar X
repeatedly in the direction as shown by the arrows.

Diagram 2 shows the poles of steel bar X after it was magnetised.

Diagram 3 shows steel bar Y being magnetised by two strang magnets.

-d———\

steel bar X

Diagram 1

N S J

magnetised steel bar X

Diagram 2

M e e e e -
R e

ol
N~

il

Vo 1

2

|

steel bar Y

Diagram 3

Which one of the following shows correctly the poles, P and Q, of the steel

% barY?
Pole P Pole Q
- (1) N N -
* (2) N S
(3) S S
(4) S N

230f40
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235.  The diagram below shows a bar magnet cut info 3 pieces, X, Y and Z.

Which one of the foilowing arrangements will allow two of these pieces of
the magnet to atfract each other?

(1) -

(2)

oz
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IndexNo:____ Class: P4

40

SECTION B (40 marks)

For queslions 26 to 41, write your answers clearly in the spaces provided. The
number of marks available is shown in brackets [ ]atthe end of each question or
part question.

26.  Nadia studies the life cycle of a mosquito as shown in the diagram belpw.

(o)

(b)

;

aduit mosquifo
lays eggs \
pupa turns mnto
\ adult mosquito

/ breathing tube )
/ AIR

eggs harch as wrigglers
imosquito larvael

wriggler
turns into
a pupa

She said that one way of controlling the population of mosquitoes was
to spread a layer of oil on the surface of the water.

Explain why this method can be used to contro! the population of
mosquitoes. {13

Another way of preventing the mosquitoes from breeding is to remove
the stagnant water.
Give a reason why Nadia should remove the stagnant water. 1]
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27.

Ken conducted an experiment with 2 set-ups as shown below.

In Set-

up A, seeds were placed in dry soil. The seeds in Set-
in wet soil. Both set-ups were then placed in his locker.

up B were placed

éet-up A

dry soil

wet soil

]

@) Which seeds in the above set-ups germinated?
Give a reason for your answer.

{b) After a week. Ken noticed that the
mentioned in (a) were NOT growing well. Why?

young seedlings with leaves

{1l

26 of 40
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28.  Sue set up the experiment as shown below. She placed the beakers near the
windows in the Science Lab.

Jayer of oil fayer of oil

Beaker A BeakerB~ Beaker C

Which one-of these beakers, A, B or C, showed the lowest water level after a
week?

Give a reason for yoyranswer. 21~

Beaker

27 of 40 2NNR DA Queianma SAT



29.  The diagram below shows the parts involved in the circutatory system of a
marnmal.

l‘ all parts of the body

(@)  Complete the diagram above by drawing in the ARROWHEADS
{ P ) on the dotted line to show the directions in which blood flows _

from one part to another. 1]
(b) Name organ 7 - [1]
(c} What is the function of organ Z7? AL

. 28 of 40 . , 2008 P4 Shiance SA2




30. Rachel made a model of the chest as shown below.
When Rachel pulled the rubber sheet downwards, the balloons inflated.

I
plunger™ - X4

bell jar

tube

bailoon

\ rubber sheet

When Rachel let go of the rubber sheet, the balloons deflated.

bell jar

wibe

—— bailoon

PfU”Qef//‘JL rubber sheet

{2}y  Fillin the blanks below with a suitable word(s) to explain why the modetl
ts NOT an accurate representation of how we breathe. {2]

Reason 1

The bell jar did not like our
chest did when we breathed in.

Reason 2

The rubber sheet should continue to move

like our diaphragm when we

breathed out.
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Jane split a celery staik along its middte and stood the split stalk into two
containers of different coloured water as shown below.

1 f

r.g%

. )‘ - s
5i1 blue )

/ AT coloured

water

red coloured
water

(@) Predict what Jane would observe of the spiit celery stalk after 1 day. [1)

(b) What did Jane’s experiment show? SISWRI (PR~ S & [
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32.

The chart below shows the classification of some plants.

Plants — : no
w, X Y, Z v Is it a land plant? W I

yes

Is il a flowering plant? %{
T o

- ) - no e
Does its flowers grow singly? Y

Y

- yes
z |
tdentify plants W, X, Y and Z by using the chart above and the words in the
box below. 4]

)'xo/ra bird's nestfern ~ _cattail hjbiscus
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33.  Peter set up the experiment shown below.

Cardboard Y
Cardboard X

~N \ -

Peter stood behind cardboard X. He could NOT see the ball behind cardboard
Y. B

Peterss eye <é

Atwhich 2 positions, A, B, C or D, should Peter place the 2 mirrors such that
he could see the ball?

Explain your answer. - 2]

Positions

32 0f40 2008 P4 Science SA2 -




34.  Toim set up the apparatus as shown below to find out if the distance between
the torch and ruler affects the size of the shadow formed on the screen.

screen

ruler -

shadow

{forch

—
*

—

distance between
torch and ruler {cm)

Based on the experiment above, answer the following questions:

(a) Predict what would happen to the size of the shadow if the ruler was
maoved further away from the screen. 1

(0]  What could Tom conclude? {1

He could conclude that

{c) Using the same apparatus as shown above, state ANOTHER way in
which Tom could do to make a bigger shadow on the screen. 1]
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35, Brenda set up the experiment as shown below.

bunsen bomer
I refort stand

1

Whal would Brenda observe if she removed the bunsen burner after a
while and the flask was ailowed to cool? -

Give a reason for your answer.

{21

In ANOTHER experiment, Brenda heated a coin using the bunsen burner until
it reached 38°C. She then dropped the coin into a glass containing water at”
25°C as shown in the diagram below.

thermometer

coin at 38°C

glass

water at 25°C

{b) Put a tick ( V) in the comrect box below to show the transfer of heat for

each of the following when the heated coin was in the water. M

Gained Heat Lost Hegt

waler
coin

_

34 0f40
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36. Ravi heated a beaker of water as shown in the diagram below.

thermometer

waler

bunsen burner

He recorded the temperature of the water and plotted the results in the graph
shown below.

)

Temparature {°

5 10 15 20 25
Time [H{in}

Based on the information above, answer the following questions:
(a) What was the temperature of the water in the beaker at the 5th minute?

1]
) The water in the beaker continued to bail for 5 minutes before its
temperature fell.
When did the temperature of water in the beaker start to fall? [1]

The temperature of water in the beaker started to fall at the
minute.
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(c)

(d)

Give a possible reason why the temperature of the water in the beaker
fell. 1)

The water reached the roon: temperature of 20 °C at the 15" minute.
The waler was then left on a table for’ANOTHER 5 minutes.

DRAW a line to complete the graph on page 35, extending it till the
20" minute. [1]
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37.  The diagram below shows a pump connected to a glass jar. The volume of the
jaris 400 cm®. The jar contains 50 cm?® of water.

piston

HESEREES
glass jar
{400 cm?)

water =

(50 cm?) S

(a) When the piston is pushed in ONCE completely, 30 cm? of air is forced
into the jar. What is the volume of the air in the jar now? {1]

The mouth of a flask is attached to a bailoon as shown in the diagram below.

air

flask

balloon

The baltoon becomes inflated when part of the flask is heated by a flame after

awhile.
/ flame
inflated
batloon
{b) What does the experiment tell us about the propetty of air? [1]
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38.  Mary conducted an experiment shown below. She marked the initial water
level in the glass tube. She then placed the set-up in a basin of hot water.

fise in
waler
initial
water _ glass
level § tube

After a while, Mary observed that there was an increase in the water level in
the glass tube.

(a)  Give areason for her observation. 11

(b} If Mary took the flask out of the basin ofhot waler and let it rest on a
table for 5 minutes, what would she observe? [1]

{c)  Give a reason for your answer in (b). [1]
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5,

39.

40.

Siew Leng poured water into two containers as shown in the diagrams below.
There was a glass tube in Set-up A but NOT in set-up B.

funnels — X -=m0 7

glass tube rubber

stoppers

containers

Set-up A Set-up B
In which set-up would the water flow down more quickly?

Give a reason for your answer. 2]

Set-up -

Mary has two pieces of objects X and Y which are made of iron, as shown in
the diagrams below.

A B 0% D

object X object Y

When she put end B near to end C. she naoticed that the objects were attracted
to each other. '

Fﬂ\ B C D

Mary concluded that both objects X and Y are magnets. Her teacher told her
that her conclusion was inaccurate.

?

Using objects X and Y, what should Mary do to prove that they are magnets
B . 21
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41 Cleo set up the following experiment to find out if the number of coils around
an iron nail affects the number of pins attracted.

batteries

//l\

g

) iron nail ipins

Cleo recorded her findings in the table below.

number of coils number of pins attracted
20 4
25 - - 6
30 9
35 11
J .

Based on the information above, answer the following questions:

(a) State the felationship between the number of coils around the iron nail
and the number of pins it attracted. ‘ {1}

{b) What else could Cleo do to increase the number of pins attracted to
the coiled nait? [1]

- End of paper -

Setters: Mrs Anna Fong, Ms Ho Win Nie and Mdm Jane Wooan
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It :_IS because the see xi_g- ad frown aves and are “ably
to make food, but the locker has no light seurceto allow the'
seedllng to make food therefore, the seel g are; not growmg

~28)Beaker C. : . Foi, L
" Itis bécause beaker C's plant has roots to absorb water for-
photosynthesns ‘while beaker; B's plant’ hasino leavers to make food
although it has mots and'béakér A's plant: as . roots""to ab‘"" rb
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29)b)Organ Z is the heart.
c)Organ Z has to pump b od rich in oxygen to all parts of the
body. P

30)a) m'i)veﬁupwards 2)}upwards

1), )Tmy tubes inside: the splitstalk in the tube col ured water
uld be stamed blue whlle thie tiny tubes in the stalk which is in

b)Jane S: expénment shows that the:stem;has tmy tubes which
transport water to all parts of the plant.

)W cattall

33)3 and D

34)a)The shadow on me Scree uld 'become. blgger and blur’
b)He could: cpnclude that when an obJect blocks most of ﬂ1e

path of: llg_ ‘big and blur shadow woiild be from. -
c)Tom could move the screen furth Way from the object and

llght source. . SO

35)a)The water w:ll ﬂow into’ ‘the ﬂask When the air. in the flask
cool, it contracts the water to ﬁll up: the space in the flask:
b)Water: Gamed Heat.
Coin; Lost Heat

36)a)100°C b)m"‘

L c)Bunser burner was turned off.
d),-

-

Tatipatatura {*C)
s B EEBER

w!
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37})a)350cms ,
b)Air expands when heated and occupies space.

38)a)The hot water transferred the heat to the water in the flask

causing it to expand._.
_bh)The water levéel in the glass tube would fall.
~ c)Water contrants when cooled.
39)Set-up A.
It is because there is a hole which allows air to escape when
the water flows in. i

40)She should put end A near to end C, if they repel then Many can
prove that they are magnets.

41)a)The more coils around the iron nail, the more pins the iron
_nail attracted. - -
b)She could add more batteries.
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